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Geography Model Test Questions 18 in English With Answers 
1. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (Rock type)   (Rock class) 

(a) Rhyolite   1. Calcareous Sedimentary 

(b) Conglomerate  2. Foliated Metamorphic 

(c) Slate   3. Arenaceous sedimentary 

(d) Dolmite   4. Extrusive Igneous 

Codes: 

 a b c d 

(A) 4 3 1 2 

(B) 1 2 4 3 

(C) 4 3 2 1 

(D) 3 2 1 4 

2. Match the pressure belts with their latitudes: 

(a) Polar high   1. 30o to 35o North and South 

(b) Sub polar low  2. 90o North and South 

(c) Equatorial low  3. 60o  to 65o North and South 

(d) Tropical high  4. 0o  to 5o North and South 

Codes: 

 a b c d 

(A) 2 3 4 1 

(B) 3 2 1 4 

(C) 1 4 2 3 

(D) 4 1 3 2 

3. Mid Atlantic Ridge 

Observe the given figure of Mid Atlantic Ridge. Match list-I with list-II correctly and select your 

answer using the codes given below: 

  List-I  List-II 

   (Name of the Ridges) 

(a) a  1.Challenger Ridge 
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(b) b  2. Rio-Grande Ridge 

(c) c  3. Walvis Ridge 

(d) d  4. Dolphin Rise 

Codes: 

 a b c d 

(A) 1 2 3 4 

(B) 3 2 1 4 

(C) 4 1 2 3 

(D) 2 1 4 3 

4. Match the feature of the constitution with the country from which they have been borrowed: 

  (Feature)    (Country) 

(a) Rule of Law    1. Ireland 

(b) Judicial of Review   2. Australia 

(c) Idea of concurrent subjects  3. U.S.A 

(d) Directive Principles of state policy 4. England 

Codes: 

 a b c d 

(A) 4 3 2 1 

(B) 1 2 3 4 

(C) 2 3 1 4 

(D) 4 3 1 2 

5. Match the cultural centres in India with their zonal head quarters: 

  (Zone)   (Head quarters) 

(a) Southern zone  1. Patiala 

(b) Northern zone  2. Udaipur 

(c) Eastern zone  3. Thanjavur 

(d) Western zone  4. Kolkata 

Codes: 

 a b c d 

(A) 4 3 1 2 

(B) 2 4 1 3 
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(C) 3 1 4 2 

(D) 1 2 3 4 

6. Ozone layer absorbs 

 (A) Methane  (B) Chlorine (C) Ultraviolet radiation (D) Cosmic rays 

7. The rivers merge in Mukoodal are 

 (A) Manimutharu, Koraiyaru, Pandiyaru 

 (B) Vazhutha Nadhi, Shanmuga Nadhi, Varaaga Nadhi 

 (C) Than Porunai, Sitraru, Kothandarama Aaru 

 (D) Vaigai, Porunai, Thamirabarani 

8. The highest peak in India is 

 (A) Mt. Everest (B) Mt. Kanchenjunga (C) Mt. K2   (D) Mt. Dhoulagiri 

9. Initially, the cutting action of the waves against the base of coastal land produces 

 (A) Tombolo  (B) Cliff   (C) Spit  (D) Sea cave 

10. World has become a global village due to 

 (A) Green revolution   (B) Communication and information revolution 

 (C) Blue revolution   (D) Industrial revolution 

11. The dam constructed across the river Sutlej is 

 (A) Bhakra-Nangal  (B) Hirakud  (C) Damodar dam (D) Stanley Reservoir 

12. Match list-I with list-II correctly and select your answer using the codes given below: 

  List-I   List-II 

(a) Mysore  1. Sugar industry 

(b) Uttar Pradesh 2. Woollen textiles 

(c) Bangalore  3. Silk textiles 

(d) Dhariwal  4. Electronic goods 

Codes: 

 a b c d 

(A) 3 1 4 2 

(B) 1 2 3 4 

(C) 2 1 4 3 
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(D) 3 1 2 4 

13. The agricultural production in which India may outsmart the USA in the near future is 

 (A) Paddy  (B) Wheat  (C) Millets  (D) Plantation 

14. The world’s deepest ‘Marina Trench’ is located in 

 (A) Pacific ocean (B) Atlantic ocean (C) Arctic ocean (D) Indian ocean 

15. Wheat granary of India is 

 (A) Punjab  (B) Rajasthan  (C) Andhra Pradesh (D) Orissa 

16. The movements of planets are controlled by the gravitational force of the 

 (A) Sun  (B) Earth  (C) Moon  (D) Stars 

17. Which one of the following is considered as dwarf planet? 

 (A) Saturn  (B) Venus  (C) Pluto  (D) Neptune 

18. Consider the following statements: 

 Available primary energy sources in India are 

 I. Coal and Lignite  II. Oil and Gas  III. Oil alone  IV. Electricity 

 (A) (I) and (II) are correct  (B) (II) and (III) are correct 

 (C) (III) alone is correct  (D) (I), (II) and (IV) are correct 

19. Pick out the correct statement: 

 (A) Lightning bolt is not hotter than sun 

 (B) Lightning bolt is 3 times hotter than sun 

 (C) Lightning bolt is not hot 

 (D) Lightning bolt is very cold 

20. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

(a) Assam   1. Ponam 

(b) Orissa   2. Mashan 

(c) Andhra Pradesh  3. Jhum 

(d) Kerala   4. Podu 

Codes: 

 a b c d 
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(A) 3 2 1 4 

(B) 4 3 1 2 

(C) 3 4 2 1 

(D) 2 1 4 3 

21. Which is the correct statement? 

 ‘Ratooning’ is the process followed in the cultivation of 

 I. Sugarcane  II. Paddy  III. Cotton  IV. Jute 

 (A) (I) only  (B) (II) only  (C) (III) only  (D) (IV) only 

22. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (Rivers )   (Origin) 

(a) Mahanadi   1. Nasik Hills 

(b) Periyar   2. Mahabaleswar hills 

(c) Godavari   3. Amarkantak 

(d) Krishna   4. Cardamom hills 

Codes: 

 a b c d 

(A) 3 4 1 2 

(B) 2 3 1 4 

(C) 4 1 3 2 

(D) 1 2 4 3 

23. In Tamil Nadu the most windfarms are with districts of 

 (A) Kanyakumari, Coimabtore, Tiruppur 

 (B) Tuticorin, Kanyakumari, Tirunelveli 

 (C) Neyveli, Kanchipuram, Chennai 

 (D) Coimbatore, Erode, Dharmapuri 

24.  Consider the following statements: 

 Assertion (A): Planet Saturn when put in water it would float. 

 Reason (R): The planet Saturn has a specific gravity less than one. 
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 Now select your answer according to the coding scheme given below: 

 (A) Both (A) and (R) are true, and (R) is the correct explanation of (A) 

 (B) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

 (C) (A) is true, but (R) is false 

 (D) (A) is false, but (R) is true 

25. Which is caused by the gravitational attraction between Moon and Earth? 

 (A) Waves  (B) Tides  (C) Currents  (D) Tsunami 

26. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

(a) Thar   1. Africa 

(b) Atacama   2. China 

(c) Sahel   3. Chile 

(d) Gobi   4. India 

Codes: 

 a b c d 

(A) 1 3 4 2 

(B) 2 1 3 4 

(C) 4 3 1 2 

(D) 3 2 1 4 

27. Consider the following statements: 

 I. Mercury has the fastest orbital motion. 

 II. Mars requires 687 days to complete one revolution. 

 III. Saturn is the fifth planet from the sun. 

 Which of the statement(s) is/are correct? 

 (A) (I) only  (B) (I) and (II) (C) (II) and (III)  (D) (I), (II) and (III) 

28. In Tamil Nadu hill rocks are called by different names in different areas. Match list-I with list-II 

correctly and select your answer using the codes given below: 

 List-I    List-II 

(a) Vellore   1. Kolli hills 

(b) Namakkal   2. Kalvarayan 
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(c) Villupuram  3. Gingee hills 

(d) Tiruvannamalai  4. Elagiri hills 

Codes: 

 a b c d 

(A) 2 3 4 1 

(B) 3 2 1 4 

(C) 4 1 2 3 

(D) 1 2 3 4 

29. Which of the following statements is/are correct? 

I. In India, the winds that blow from north get deflected and come from the north west. These 

winds are known as the retreating monsoon. 

II. In India, the winds that blow from the north get deflected and come from the north east. These 

winds are known as the ‘retreating monsoon’. 

Of these: 

(A) (I) only  (B) (II) only  (C) Both (I) and (II)  (D) Neither (I) nor (II) 

30. Consider the following statements: 

 I. Himachal lies between Himadri and Siwalk ranges. 

 II. Passes are the natural gaps across the mountains. 

 Which of the statements given above is/are correct? 

 (A) (I) only  (B) (II) only  (C) Both (I) and (II)  (D) Neither (I) nor (II) 

31. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

(a) Australia   1. Horses 

(b) South Africa  2. Bisons 

(c) Eurasia   3. Kangaroos 

(d) North America  4. Zebras 

Codes: 

 a b c d 

(A) 4 3 2 1 

(B) 4 3 1 2 
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(C) 3 4 1 2 

(D) 1 2 3 4 

32. The length of the growing season in “Taiga” forests 

 (A) 150 days  (B) 120 days  (C) 110 days  (D) 130 days 

33. Match list-I with list-II correctly and select your answer using the codes given below: 

  List-I    List-II 

(a) Chinook   1. Northern Italy 

(b) Fohn   2. Thar Desert in India 

(c) Sirocco   3. USA 

(d) Loo   4. Sahara Desert 

Codes: 

 a b c d 

(A) 1 3 2 4 

(B) 2 1 4 3 

(C) 3 1 4 2 

(D) 4 3 2 1 

34. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I   List-II 

 (Planet)  (Duration of Revolution) 

(a) Mercury  1. 687 days 

(b) Venus  2. 87.97 days 

(c) Earth  3. 224.7 days 

(d) Mars  4. 365½ days 

Codes: 

 a b c d 

(A) 1 2 3 4 

(B) 4 3 2 1 

(C) 2 3 4 1 

(D) 4 3 1 2 

35. Choose the correct answer – This is 
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 (A) The eye of the cyclone  (B) Symbol of the cyclone 

 (C) Windward side   (D) Incoming air 

36. Choose the correct statement: 

 (A) Andaman sea lies between Andaman island and Taiwan 

 (B) Andaman sea lies between Andaman island and Thailand 

 (C) Andaman sea lies between Andaman island and Cambodia 

 (D) Andaman sea lies between Andaman island and Malaysia 

37. The first product to be registered from Tamil Nadu under the ‘Geographical Index Registration 

and Protection Law’ is 

 (A) Madurai Malli   (B) Tanjore Veena 

 (C) Pathamadai Mat   (D) Salem Sungudi Saree 

38. Choose the correct answer: 

 Which theory brings out the relationship between the birth rate and the death rate? 

 (A) Malthusian Theory of Population  

 (B) The Theory of Optimum Population 

 (C) The Theory of Demographic Transition 

 (D) Rostow’s stages of Economic Growth 

39. Currents of Indian Ocean – Match: 

 Current number Current Name 

a) I   1. Agulhas current 

b) II   2. Australian current (west) 

c) III   3. Madagascar current 

d) IV   4. Somali current 

 a b c d 

(A) 1 4 3 2 

(B) 4 3 1 2 

(C) 2 4 1 3 

(D) 3 1 2 4 

40. Which of the following pair is wrongly matched? 

 (A) Magnetite - Karnataka  (B) Zirconium - Kerala 
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 (C) Tungsten - Rajasthan  (D) Bauxite - Nagaland 

41. Match the following: 

 Tributary   River 

(a) Jhelum    1. Indus 

(b) Kosi   2. Krishna 

(c) Tungabhadra  3. Godawari 

(d) Manjra   4. Ganga 

Codes: 

 a b c d 

(A) 4 2 3 1 

(B) 1 4 2 3 

(C) 3 4 1 2 

(D) 4 1 2 3 

42. Match list-I with list-II correctly and select your answer using the codes given below: 

  List-I   List-II 

(a) Lakshadweep  1. Chandigarh 

(b) Tripura   2. Ranchi 

(c) Haryana   3. Agartala 

(d) Jharkhand   4. Kavaratti 

Codes: 

 a b c d 

(A) 1 2 3 4 

(B) 3 2 1 4 

(C) 4 3 1 2 

(D) 2 1 4 3 

43. Which of the following gases is most predominant in the sun? 

 (A) Lead  (B) Hydrogen  (C) Silicon  (D) Oxygen 

44. Arrange the members of the solar system in descending order. 

 I. Planets  II. Comet  III. Meteors  IV. Asteriods 

 (A) I, II, IV, III (B) I, III, IV, II (C) I, IV, II, III (D) I, II, III, IV 

http://www.winmeen.com/


Indian Geography                                                                        Prepared By www.winmeen.com 

 

Learning Leads To Ruling                                    Page 11 of 22 

45. Consider the following statements: 

Assertion (A): The collision of continental and oceanic plates result the mountain ranges 

encircling the Pacific Ocean. 

Reason (R): The intense pressure due to compressional forces cause the depositions on the 

marginal continental to uplift to form fold mountains along the Pacific coast. 

 Now select your answer according to the coding scheme given below: 

 (A) Both (A) and (R) are true, and (R) is the correct explanation of (A) 

 (B) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

 (C) (A) is true, but (R) is false 

 (D) (A) is false, but (R) is true 

46. Which soil type is represented in the shaded pert of the given India map? 

 I. Black soil  II. Red soil  III. Alluvial soil  IV. Desert soil 

 (A) III  (B) I  (C) IV  (D) II 

47. Assertion (A): To reduce the high tides of sea during storm oil is poured around the ship. 

Reason (R): Surface tension of oil is less than sea water, reduces the wrath of waves. 

 Now select your answer according to the coding scheme given below: 

 (A) (A) is correct (R) is wrong  (B) Both (A) and (R) are correct 

 (C) (R) is correct (A) is wrong  (D) Both (A) and (R) are wrong 

48. Identify the incorrect pair: 

  Biosphere  States 

 I. Kanha  - Madhya Pradesh 

 II. Nandadevi  - Uttranchal 

 III. Manas  - Assam 

 IV. Namdhapa  - Arunachala Pradesh 

 (A) I  (B) II  (C) III  (D) IV 

49. Choose the correct answer from the following: 

 These occur as a result of continuous thunder storming. 

 (A) Landslides and floods  (B) Tsunami 

 (C) Earthquake   (D) Volcanic eruption 
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50. Match the following: 

(a) Larkana District  1. Gujarat 

(b) Kalibangan  2. Punjab 

(c) Lothal   3. Rajasthan 

(d) Harappa   4. Sind 

Codes: 

 a b c d 

(A) 3 1 2 4 

(B) 4 3 1 2 

(C) 1 2 4 3 

(D) 2 4 3 1 

51. Consider the following statements. Choose the correct answer. 

 “Comets have no tail”. 

 I. When they are far away from the sun. 

 II. When they are close to the sun. 

 III. When they are close to the earth. 

 IV. When they are in between the earth and the sun. 

 (A) I, II, III and IV are wrong   (B) I is correct but II, III and IV are wrong 

 (C) I is wrong but II, III and IV are correct (D) I, II, III and IV are correct 

52. Identify the Seaports and name them. 

 1) Paradwip  2) Mangalore  3) Chennai  4) Cochin 

 (A) Paradwip, Cochin, Chennai, Mangalore  (B) Mangalore, Paradwip, Chennai, Cochin 

 (C) Mangalore, Cochin, Chennai, Paradwip (D) Cochin, Mangalore, Chennai, Paradwip 

53. I. Moon is called a Meteoroid. 

 II. Moon is called a Satellite. 

 III. Moon is called a Asteroid. 

 IV. Moon is called a Comet. 

 (A) I and III are correct  (B) II is only correct 

 (C) II and IV are correct  (D) IV is only correct 
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54. Choose incorrectly matched: 

 (A) Green Revolution  - Agricultural crops 

 (B) White Revolution  - Milk and Milk products 

 (C) Grey Revolution  - Oil seeds 

 (D) Golden Revolution - Horticulture 

55. Choose the correct answer: 

 In which District Grizzled Squirrel Wild Life Sanctuary is found? 

 (A) Nilgiris  (B) Sivagangai (C) Virudhunagar (D) Kanyakumari 

56. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (Ancient Name)  (New Name) 

(a) Shutudri   1. Chenab 

(b) Vipas   2. Sutlej 

(c) Parushini   3. Beas 

(d) Asikini   4. Ravi 

Codes: 

 a b c d 

(A) 1 2 3 4 

(B) 2 4 1 3 

(C) 1 4 2 3 

(D) 2 3 4 1 

57. ‘Aurora Borealis’ , the so called northern lights are due to 

(A) The atomic collision of the trapped cosmic ray particles in the Earth’s magnetic field 

 (B) The presence of a special phosphorescent material in the poles 

 (C)The interference of solar and terrestrial radiations 

 (D) All of the above 

58. Consider the given figure of location of multipurpose projects in India. Match list-I with list-II 

correctly and select your answer using the codes given below: 

  List-I    List-II 
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 (Multipurpose Project Number) (Dam Name) 

(a) I     1. Bakra 

(b) II     2. Gandhi Sagar 

(c) III     3. Nagarjuna Sagar 

(d) IV     4. Hirakud 

Codes: 

 a b c d 

(A) 2 1 4 3 

(B) 1 3 2 4 

(C) 4 1 2 3 

(D) 3 2 1 4 

59. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (Mineral ore)   (Mineral extracted) 

(a) Magnetite   1. Mica 

(b) Casserite   2. Coal 

(c) Anthracite   3. Iron 

(d) Muscovite   4. Tin 

Codes: 

 a b c d 

(A) 4 1 3 2 

(B) 2 3 1 4 

(C) 3 2 4 1 

(D) 3 4 2 1 

60. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (Livestock product)  (Country) 

(a) Beef   1. Denmark 

(b) Pork   2. Argentina 

(c) Butter   3. Australia 

(d) Wool   4. China 

Codes: 

http://www.winmeen.com/


Indian Geography                                                                        Prepared By www.winmeen.com 

 

Learning Leads To Ruling                                    Page 15 of 22 

 a b c d 

(A) 3 2 1 4 

(B) 2 4 1 3 

(C) 4 3 2 1 

(D) 1 4 3 2 

61. Fill in the blanks: 

 In 2008, India had the world’s _________ largest fishing industry. 

 (A) Tenth  (B) Eighth  (C) Fifth  (D) Third 

62. Consider the given Fig. of Seas of North West Europe. Match list-I with list-II correctly and select 

your answer using the codes given below: 

 List-I    List-II 

 (Sea number)   (Sea name) 

(a) I    1. Baltic Sea 

(b) II    2. Norwegian Sea 

(c) III    3. North Sea 

(d) IV    4. Irish Sea 

Codes: 

 a b c d 

(A) 3 1 4 2 

(B) 4 1 2 3 

(C) 2 4 3 1 

(D) 1 3 2 4 

63. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

 (City)    (Climate) 

(a) Manaus   1. Mid latitude arid and semi arid 

(b) Valpariso   2. Rainy Tropic 

(c) Chennai   3. Dry summer sub tropic 

(d) Denever   4. Wet and dry tropic 

Codes: 

 a b c d 
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(A) 3 4 1 2 

(B) 2 3 4 1 

(C) 4 2 1 3 

(D) 2 1 3 4 

64. Match the following: 

(a) Globigerina Ooze  1. Red clay 

(b) Neritic deposits  2. Calcarious 

(c) Diatam Ooze  3. Sand 

(d) Deep Sea deposits  4. Siliceous 

Codes: 

 a b c d 

(A) 1 2 3 4 

(B) 2 3 4 1 

(C) 1 3 4 2 

(D) 3 2 1 4 

65. The star seen close to earth is 

 (A) Sirius  (B) Alpha centauri  (C) Cygin  (D) Luyten 

66. Match list-I with list-II correctly and select your answer using the codes given below: 

 List-I    List-II 

(a) Yakshagana  1. Maharashtra 

(b) Tamasha   2. Karnataka 

(c) Raslila   3. Bengal 

(d) Yatra   4. Manipur 

Codes: 

 a b c d 

(A) 2 1 4 3 

(B) 2 1 3 4 

(C) 3 2 4 1 

(D) 1 2 4 3 

67. Coral reefs are found in __________ latitudes 
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 (A) 30o N to 30o S   (B) 30o N to 0o S 

 (C) 30o N to 15o S   (D) 15o N to 30o S 

68. The world map in 490 B.C. was constructed by 

 (A) Pytheas  (B) Herodotus (C) Strabo  (D) Potolemy 

69. The doted area in the given Africa map represents which type of vegetation? 

 I. Desert scrub  II. Savanna III. Equatorial forests  IV. Mangrove forests 

 (A) I  (B) III  (C) II  (D) IV 

70. The process of removing, lifting and blowing away dry and loose particles of sands and dust is 

called as 

 (A) Deflation  (B) Erosion  (C) Oxidation  (D) Carbonation 

71. Arrange the states of India in ascending order on the basis of percentage of forest area to total 

geographical area 

 (A) Goa – Punjab – Meghalaya – Mizoram  (B) Punjab – Goa – Meghalaya – Mizoram 

 (C) Goa – Punjab – Mizoram – Meghalaya  (D) Punjab – Goa – Mizoram – Meghalaya 

72. In India, rain forest are found in 

 (A) Northern Western Himalayas 

 (B) Northern Eastern Himalayas and Western Ghats 

 (C) Eastern Ghats 

 (D) Central India 

73. Find out the landforms which is in between the two drainage basin. 

 (A) Water divide  (B) Gorge  (C) Canyon  (D) Waterfall 

74. Identify the great plains of India and name them. 

 a) Sutlaj Yamuna plain  b) Rajasthan plain 

 c) Middle Ganga plain  d) Upper Ganga plain 

  1 2 3 4 

 (A) b a d c 

 (B) a b c d 

 (C) c d b a 

 (D) d c b a 
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75. I. The national waterways of India identified 5 water ways. 

 II. Saidiya – Dhubri stretch is in the river Krishna. 

 Which of the statements given above is/are correct? 

 (A) I and II are correct   (B) II only correct 

 (C) I is correct and II is wrong  (D) I is wrong and II is correct 

76. Lakshadweep islands are known for ________ 

 (A) Peaches  (B) Rubber  (C) Marshes  (D) Corals 

77. Tick the correct option. 

 Temperature remains constant in 

 1) Troposphere 2) Stratosphere 3) Tropopause  4) Mesosphere 

 (A) 1 only  (B) 2 only  (C) 1 and 2  (D) 3 and 4 

78. Choose the source of black soil from the following: 

 (A) Igneous rocks   (B) Sedimentary Rocks 

 (C) Metamorphic rocks  (D) Laterite rocks 

79. Assertion (I) : Rann of Kutch is an extensive tract of naked tidal mudflats transacted by creeks. 

 Assertion (II) : Live creeks form dendritic pattern of drainage and there has been accentuation in 

the pattern due to sea level rise. 

 (A) Assertion I only true  (B) Assertion II only true 

 (C) Assertion I and II is true  (D) Assertion I is true and II is false 

80. Match the following: 

  Famous painting States 

a) Madhubani  1. Rajasthan 

b) Phad   2. Bihar 

c) Patachitra   3. Andhra Pradesh 

d) Kalamkari   4. Odissa 

 a b c d 

(A) 2 1 4 3 

(B) 1 4 3 2 

(C) 4 1 3 2 

(D) 1 2 4 3 
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81. Which of the following pairs is in correct? 

 (A) Neem – Andhra Pradesh  (B) White Teak – Mizoram 

 (C) Chinar – Himachal Pradesh (D) Palm tree – Tamil Nadu 

82. ANKOR, a great geographical landmark belongs to 

 (A) Cambodia  (B) Egypt  (C) India  (D) Moacow 

83. Choose the wrong statement. 

 (A) Pitchavaram has the longest swamp forest cover in Tamil Nadu 

 (B) Javadhu hills in Vellore district of Tamil Nadu 

 (C) Cyclonic rain occurs in Western Ghats 

 (D) Kanyakumari receives rain from all rainy season 

84. Which is the correct statement for the following? 

 ‘Unequal distribution’ in the rate of growth of population is due to 

(A) Nature of terrain, Low infant mortality   

(B) Nature of terrain, Climate 

 (C) High infant mortality, Climate  

(D) Employment opportunity, Nutritious food 

85. Pick out the correct statement. 

 Temperature decreases with increasing altitude from the earth surface at a rate of 

(A) 1o C for every 100 meters  (B) 1o C for every 165 meters 

(C) 1o C for every 55 meters  (D)  1o C for every 63 meters 

86. Arrange the following from the interior of the earth 

 i) Moho discontinuity ii) Sial  iii) Guntenberg or oldtam discontinuity iv) Sima 

(A) (i), (iii), (ii) & (iv)   (B) (iii), (i), (ii) & (iv) 

(C) (ii), (iv), (i) & (iii)   (D) (iii), (i), (iv) & (ii) 

87. Green house lighting scheme of Tamil Nadu Government uses energy from 

 (A) Wind (B) Solar (C) Hydro Thermal (D) Nuclear 

88. The Kaziranga National Park in Assam is famous for 

 (A) Royal Bengal Tiger  (B) One horned Rhino 
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 (C) Asiatic Lion   (D) Lion tailed monkeys 

89. ------------ is the highest volcanic mountain of the world 

 (A) Cotopaxi  (B) Fujiyama  (C) Kilavea  (D) Mt.Taal 

90. The control of Export Import trade in the world is mostly in the hands of 

 (A) Developed industrialized capitalist countries 

 (B) Developed agricultural capitalist countries 

 (C) Developed Industrialised countries 

 (D) Developed agricultural countries 

91. The largest private thermal power plant in India is ------------ 

 (A) Mundra plant (B) Tiroda plant (C) Dahaj plant (D) Chindwara plant 

92. Identify the river sequence as shown in the Map. 

   1  2       3     4 

 (A)  Penneru Tungabhadra  Ghaghara Yamuna 

 (B)  Penneru Tungabhadra  Yamuna Ghaghara 

 (C)  Tungabhadra Penneru  Yamuna Ghaghara 

 (D)  Penneru Tungabhadra  Yamuna Ghaghara 

93. Consider the following pairs: 

  Source   River/River Tributary 

I. Kullu Hills   Chenab 

II. Amarkantak   Son 

III. Mahabaleshwar  Krishna 

(A) I and II only (B) I, II and III (C) I and III only (D) II and III only 

94. In which part of the world, rubber plantations are largely found 

(A) South – East Asia (B) West Asia  (C) Africa (D) Australia 

95. Peaty saline soils are called as Kari, is found in  

 (A) Rajasthan  (B) Madhya Pradesh  (C) Kerala  (D) Karnataka 

96. Consider the following statements: 

 Assertion (A) : Tropical moist evergreen forest is not seen in Cherrapunji 

 Reason (R) : Excessive soil erosion does not favour the thick forest growth. 
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(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A) 

 (B) Both (A) and (R) are individually true but (R) is not the correct explanation of (A) 

 (C) (A) is true, but (R) is false 

(D) (A) is false, but (R) is true 

97. Match List-I with List-II and select the correct answer using the codes given below the lists. 

 List – I     List – II 

(a) Chinook    1. Mediterranean region 

(b) Mistral    2. Eastern slopes of rock mountain 

(c) Sirocco    3. Easter shore of Adriatic sea 

(d) Bora    4. Sahara Desert 

a b c d 

 (A)  1 3 4 2 

 (B)  2 1 4 3 

 (C) 3 2 1 4 

 (D) 2 4 3 1 

98. Consider the following statements. 

 I. The sun is a medium sized star 

 II. It is about two billion years old 

III. It consists of almost entirely of hydrogen and helium 

Which of the statements given below is/are correct? 

(A) I only  (B) I and II  (C) I and III  (D) I, II and III 

99. Consider the following statements. 

I. Forests grow lush in areas where there are conditions such as high temperature, low rainfall and 

fertile soils. 

II. Forests grow lush in areas where there are conditions such as high temperature and heavy 

rainfall throughout the year and fertile soils. 

Which of the statements given above is/are correct? 

(A) I only  (B) II only  (C) I and II only (D) I and II are wrong 

100. Among the irrigation sources, water available from 5 to 8 months comes under which one of the 

following category? 
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 (A) First class  (B) Fourth class (C) Fifth class  (D) Third class 
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